Chapter 10.2-10.4 Review Solutions

1) v2 =100x
2) y2 =12x
3)v2= 6—4x

: 9
4) vertex: (0, 0)
focus: (0, -3)
directrix: y =3
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6) foci at (- 24/6, 0) and (246, 0)
vertices at (- 7, 0), (7, 0)
7) foci at (0, - r\ﬁ) and (0, @)
vertices at (0, - 9), (0, 9)
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9) 0.5 in. from the vertex

10) foci at (- af13, 0) and (+f13, 0)
vertices at (- 7, 0), (7, 0)

11) fodi at (45, 0) and (- 45, 0)

12) foci at (0, 243) and (0, - 2+/3)

13) 60 ft
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16) center at (0, 0)
transverse axis is x-axis
vertices at (- 5, 0) and (5, 0)

foci at (- /106, 0) and (~f106, 0)

asymptotes of y = - 2 andy = 2
-
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17)

18)y==x+1;forxin-6<x<9
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19) x2 +y2 =25; for xin-5<x <5



